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. 1. tanf@ + cot@ = secB.cosec 02D essIDsIn.

D.es¢ tanf + cotd

sin @ cosf

cos O sin @
sin2 0 + cos? 6
cos 6.sin 6
1
cosf.sinf
1 1
X =
cos 6 sin 8

secB.cosecO = ¢.e5q

2. cot?0 — cos? 6O = cot? 0 .cos? 0 9D esxIDsIn.
D.5¢ cot? 0 — cos? 6

cos? 6

2
— COS 9
sinZ @

cos2 0—cos? 6.sin? 6

sin 0
cos? 6(1-sin?9)
sin 6

cos? 6 2
——.cos“ 0
sin2 @

cot?0 — cos? 0 = c.ex

3. tan* 6 + sec? § =sec* 6 — tan? 0 99 eV .
©..5¢ tan*0 + sec? 6
(tan? 8)? + sec? 6
(sec?8 —1)? + (1 + tan?9)
sec*f —2sec’0 +1+1+tan®6
sec*d — 2(sec? — 1) tan? 6
sec*f — 2tan? 0 + tan? 6

sec* 6 — tan? 0 = ¢.e5;
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4. (secH — cosB)(tan O + cotB)(cosecH — sin ) = 190 ess3DsIm
©.e5¢ (sech — cosB)(tan O + cotB)(cosecd — sin O)

1 sin 6 cos 6 1 .
(0050 — cos 9) (cos@ T sine) (cose — s 9)

(1—cos? ) (sin? +cos? 0) (1-sin? 9)

cosf cosf.sin 6 sin @
sin® P % 1 % cos%0
08?0  cosO.sind sin
I c.e5t

5. (14 cotf — cosecO)(1 + tan B + sech) = 299 eusxs3DsI».
.5t (14 cotf — cosecO)(1 + tan O + sech)

cos 6 1 sin 6 1
(1 + sin @ B sinB) (1 + cos 6@ + cose)

(sin 6+cos 9—1) (cos 6+sin 0+1)
cosf@

sin @
{(sin8+cos 8)—1}{(sinB+cos B)+1}
sin 6.cos 0

(sin 8+cos 6)%2-1
sin6.cos 6

sin? 8+cos? 6+2sin f.cos -1

sin8.cos 0

X42sin6.cos -1
sin 8.cos 0

2 sif0.cost
sipf.cos @
2 ey

6. sin®@ + cos® O =1 — 3sin? .cos? § 9D oD@ WSBIB.
O.e5¢ sin® 6 + cos® 8
(sin? 8)3 + (cos? 6)3
(sin? 8 + cos? 0)((sin? 8)% — sin? 6. cos? 6 + (cos? 0)?)
1 X {(sin? 8 + cos? 8)? — 2sin? B.cos? @ — sin? O. cos? B}
12 — 3 sin? A.cos? 6

1-3sin? 0. cos? fe.e
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sin 8 1+cos @
( - ) — 2 cosec 09D 0056 »HOSID).
(1+cosB9) sin @
.65 sin @ (1+cos )
=t (1+cos6) sin 6

sin2 8+ (1+4cos 6)2
(1+cosB)sin b

sin? 9+1+2 cos B+cos? 0
(14+cosB)sin O
2(1+ees0)
(1tces0).sin b
2
sin @

2cosec 8 ¢.esp

tanf+secfH—-1 _ 1+sinb
tan6—-secH+1 cosf@

tan 6+secH-1

.88
: tan @—secH+1

tan 6+sec 0—(sec? §—tan? 6)
tan 6—secH+1

(tan 0 +sec )—(secf—tan B)(secH+tan )
tan 6—-secH+1

(secO+tan B)[L—sec H+tan b]
[1-seeB +tan 6]
secd +tanf

1 sin @
cos 6 cos @

1+sin6
= ¢.0

cosf
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1+sin 0
+an =secO + tan 0 29 essIDsI™.
1-sin@
9.6, ’1+s?n9
1-sin @

(1+sin 8)(1+sin @)
(1-sin 8)(1+sin )

(1+sin 0)2
1-sinZ? 0
(1+sin 0)2
cos2 6

1+sin@

cos 6

1 sin 8
cosf cosf@

secH + tan 6 = ¢.e¢

10.(1 + tan a. tan B)?*+(tan @ — tan B)? = sec? a.sec?
DO BABB WHOBIB).
©.1(1 + tan a.tan )% + (tan @ — tan B)?
1+2/th a.tan B + tan® a . tan? f+tan? a — 2 t}k(a. tan B + tan’
(1 + tan®? a) + tan? (1 + tan? a)
(1 + tan? a)(1 + tan? B)

sec? a.sec? B = e.e
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11.0< 0 <§ ® cosecH + cotd = a »® cosecH,tanf e cosf & aow

©e3263532)

cosecO + cotf = a 4®

cosec?0 —cot? 9 =1
(cosec @ — cotB)(cosecH + cotf) =1

1
(cosec 8 + cot9)

cosecf — cotf = % @

cosec — cotl =

O+

1
2cosecO =a+—

a
2 _ a?+1
sin 6 a
) _ 2a
sin 6 = @D
1
2cotd =a——
a
2 3 a’ -1
tanf = a
tang = 2a
an = @ -1
cosf = cotl.sinf
(@ -1 y 2a
2a (a2 +1)
2_
cosf = az -
a“+1
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12.0< 6 <§q,m>n>kqmcos€—nsin9 =k 8,

msinf + ncosf = Vm? + n? — k2990 eamra 053D,
mcosf —nsinf =k »®
ecsn® 86 BBe®xy
(mcos® —nsinf)? = k2
m? cos? 0 +n?sin® 0 — 2mncos H.sin O = k?
m?(1 —sin? ) + n?(1 — cos? §) — 2mncos O.sin 6 = k?
m? —m?sin? @ + n®> —n? cos? @ — 2mncos O.sin O = k?
(msin0)? + 2mnsin0.cos @ + (ncos 8)? = m? + n? — k?

(msin0 +ncos0)? = m? + n? — k?

msin@ +ncos@ = ym? +n? — k2
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130<6< Eq a,b> 0 cosec —sinf = a3e

secO — cos 0 = b3 ¢ »® a?b?(a’ + b?) = 1 99 eI,
cosecO —sinf = a3
1

sin @

—sinf = a3

(1-sin?9)
sin 8

cos20 = a®sinf1—)

secd —cosf = b3

— 43

! 0 = b3

cos @ cose =

1 —cos? 6

- T p3
cos @

sin?6 = b3 cos 92—
@

@,

3
tan? 6 = — cot 6
a

3, b3 b
tan 9——3ta-n-9—$>—
a a

0 30 emdenw Beo

Ja? + b?
b
a
sin ) ose—m
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D

cos?’ 6 = a3sind

4 b
(a2+b2) 6{5 X vaZ+b?

va? + b? =ab(a? + b?)
(a2+1b?%) = a?b?(a? + b?)?
~ a’b*(a*+b*) =1
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